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Please use the powerpoint which is attached to help you. This is a new area of maths, which we have not covered.
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Friday
1. A model of a bus is made to a scale of 1:30.  If the model has a length of 30 cm, what is the length of the actual bus?  Give your answer in metres.
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2. An aeroplane has a wingspan of 60 metres. A model of it is made on a scale 1:50. How big is the wingspan on the model? 







3. Gary makes a model of a house.  All the measurements of the actual house are ten times bigger than the measurements of the model.  What is the scale of his model?
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https://www.bbc.co.uk/bitesize/guides/znnycdm/test
Can you test your knowledge of ratio and proportion? How did you do? Can you keep improving your score?
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We know that ratio is a way of comparing quantities.
A very important use of ratios is in scale.

When using scale, ratio is used to compare the length of a
drawing or a model to the length of the real thing.

Let’s look at an example...
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A model car is made to a scale of 1:30. If the length of the
model car is 15cm, how long is the actual car?

Firstly, the scale 1:30 means that every It is important to remember that
unit of measurement of the model is 30 on a model all measurements of
units of measurement on the actual car. the car are reduced by the same

amount. We say that the car is
scaled down or in the same
proportion.

For example, every 1cm of the model is
30 cm on the actual car.
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Applying scale

A model car is made to a scale of 1:30. If the length of the
model car is 15cm, how long is the actual car?

We are told that the length of the model car is
15cm. To find the length of the actual car, we
therefore need to multiply this by 30.

In the above example, the
scale is 1:30. Each
measurement on the

actual car is therefore 30

times bigger than any
measurement on the
model.

15 x 30 =450cm

‘ (or 4 metres and 50 cm or 4% metres)





